## **COST FOR LEE'S SUMMIT SOCCER COMPLEX**

Item No.	Description	Unit Total
1	West Parking Lot	\$1,188,506.81
2	South Parking Lot	\$349,203.12
3	Field Complex	\$1,207,882.98
	Sub Total	\$2,745,592.91
	Engineering (10%)	\$274,559.29
	Contingency (15%)	\$411,838.94
	Total Cost	\$3,431,991.13



9801 Renner Bou Lenexa, Kansas 9 1 3 . 4 9 2 . 0 www.gbateam

## **West Parking Lot**

Item No.	Description	Unit	Approx. Unit Quantity	Unit Price	Unit Total
1	Asphalt Concrete Surface (2")	SY	17,188	\$8.00	\$137,504.00
2	Asphalt Concrete Surface (8")	SY	18,330	\$31.00	\$568,230.00
3	Flyash Modified Subgrade	SY	18,330	\$6.00	\$109,980.00
4	Concrete Curb and Gutter (Type "B")	LF	6,410	\$16.00	\$102,560.00
5	Concrete Sidewalk	SF	11,545	\$6.75	\$77,928.75
6	Handicap Ramps	EA	2	\$1,500.00	\$3,000.00
7	5'x4' Curb Inlet	EA	4	\$5,000.00	\$20,000.00
8	10'x5' Curb Inlet	EA	1	\$10,000.00	\$10,000.00
9	4' Dia. Std. Manhole	EA	1	\$4,500.00	\$4,500.00
10	24" Dia. Nyloplast Basin	EA	2	\$1,300.00	\$2,600.00
11	30" Dia. Nyloplast Basin	EA	1	\$1,500.00	\$1,500.00
12	Storm Sewer (60" RCP)	LF	305	\$250.00	\$76,250.00
13	Storm Sewer (12" HDPE)	LF	265	\$50.00	\$13,250.00
14	Storm Sewer (18" HDPE)	LF	335	\$65.00	\$21,775.00
15	Storm Sewer (24" HDPE)	LF	215	\$75.00	\$16,125.00
	Erosion Control (2%)				\$23,304.06
	Total Cost				\$1,188,506.81



9801RennerBoulevard Lenexa,Kansas66219 9 1 3 . 4 9 2 . 0 4 0 0 www.gbateam.com

## **South Parking Lot**

Item No.	Description	Unit	Approx. Unit Quantity	Unit Price	Unit Total
1	Asphalt Concrete Surface (2")	SY	5,235	\$8.00	\$41,880.00
2	Asphalt Concrete Surface (8")	SY	5,690	\$31.00	\$176,390.00
3	Flyash modified subgrade	SY	5,690	\$6.50	\$36,985.00
4	Concrete Curb and Gutter (Type "B")	LF	1,541	\$16.00	\$24,656.00
5	Concrete Sidewalk	SF	8,140	\$6.75	\$54,945.00
6	Handicap Ramps	EA	5	\$1,500.00	\$7,500.00
	Erosion Control (2%)				\$6,847.12
	Total Cost				\$349,203.12



9801RennerBoulevard Lenexa, Kansas 66219 9 1 3 . 4 9 2 . 0 4 0 0 www.gbateam.com

## **Field Complex**

Item No.	Description	Unit	Approx. Unit Quantity	Unit Price	Unit Total
1	Concrete Sidewalk	SF	133,148	\$6.75	\$898,749.00
2	Sport Field	EA	9		\$0.00
3	Field Lighting	EA			\$0.00
4	6" Water Line	LF	2,595	\$110.00	\$285,450.00
	Erosion Control (2%)				\$23,683.98
	Total Cost			·	\$1,207,882.98



9801RennerBoulevard Lenexa,Kansas66219 9 1 3 . 4 9 2 . 0 4 0 0 www.gbateam.com